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Gy IAMRERE RERSZE K ¢ 450%350(133kg) i 2
8054 MR EhEF45° K ¢ 350(121kg) 2
VIR ANEEREE ¥l K $ 350 il 5
55 VERERE i K ¢ 450 i) 2
B84 VERERE FeEldR K ¢ 450 ek 2
594 MR ERE R (RE4R4T) ¢ 450 # 2
5 Y5 ANVERERE AHTGHRE ¢ 150%90°  (V%C) il 1
B Y9 NEERRE EE Ns-1 ¢ 150(L=5000mm) A 1
FYIANEGREEE EH NS-1 ¢ 350 (L=6000mm) A 2
554 VERGRE BHAF90° NS ¢ 150(35.7kg) 1 2
854 NERERE HEEm NS ¢ 350(118kg) 18l 2
B 954 MFHIRE FAF— NS ¢ 150 {E 1
S YIANEEERE F4F— NS ¢ 350 1l 2
Y IRANESRE Loy Ayl 150 a 1
B YFANEREE LAV Sy iq7 $ 350 ik 8
PO VERERE AEfn B Fr BRI R NSTE $ 350 b} 4
B IRANEREE PNT 28 UEEPN-NS ¢ 350 {8l 2
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# H r & it Al i Al By # & E (Y MR
5054 MBRERE PN BEESEHAEER ¢ 350 i1 8
SU5VESE  PNE EAMARELETA  $350 i1 2
5 I8 ANBERE EE90° NS ¢ 350 (115kg) A 3
Y I8 ANEERE PNEUFEE ¢ 350 X 4.00m 7 8
8984 NERERE PN 1 78 ¢ 350 X 2.9m A 1
B O5ANERERE NSz il & 6 350%90° {1 2
5P ANVEERE NSTEHEAKTFE $350%11°  1/4 & 1
FI8ANREE A TG $150%22° 1/2(VxV}| & 1

WEE{kE=—% VPE® ¢ 50(L=50000mm) # 2
WERbE =— TSTF ¢ 50 1& 2
BWEEE =— %% TS%4y7’ ¢ 50 1 2
WREE =— 2NV Vb ¢ 50 18 6
HEE Y =— F—pn AT ¢ 50 18 2
R Y =— HIVPELE (2'4i) ¢ 150 z 1
805 J7 =PIV 'E) 10k ¢ 150 NSERLO %= 1
e J7M—{PIFY R 10k ¢ 350 NSF3E M0 % 2
iLEn TORE ¢ 50~ ¢ 150 DP=600 | #& 1
4 L EREE {8 5
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® H I i Fill | il BEir| &% & B O(H AR
sk 7k (DIP) D450 & 2
TEF TEHE 6 50~ ¢ 350 DP=2000 #& 3
L1 e ¢ 50~ ¢ 350 DP=3000 # 1
£ DA EERARL— 150mn*50m& 7 /v #% 2
Z O BART—F 50mn#20m * 3
O MRELDYF L=0.TmiRV LD & A& B 3
Zof BELayk L ImiE) e RAED A 1
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